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No. | Z=FH |RIEEC 1 2 3 4 5 &3
1 fif] H rE - A7 17.8 18.7 20.0 488
2 |#BRBEEF - 29.1 173 A212 19.6 448
3 |HMEERKF - 0.6 45 22.3 5.7 33.1
4 |EiFELF - A206 A7 A182 A183 AG66.38
5 |IhNEf-Hh& - 8.7 A4 A55 3.9 3.0
6 |WKX [FF - 0.0
7 | &N E - A225 5.6 42 7.1 A56
8 |#e Rid - 215 A43 A90 18.0 25.7
9 |&ZXKEEE - 0.0
10 |FEFEF - A9 1 7.7 A170 AsS8| A272
11 | RE HBF - A18.1 A210 38 A193 A5456
12 |BWUEEF - A182 26.7 A55 A42 A12
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No. EFA IREP B B 152 25 =3 SEtP
4 |EFELF 0.0 A8 6| A12.0| A20.6 | A20.6
10 |fEEFEF 0.0 A5, 1 A4 0 A9 1 A9 1
2 |#BRBEEF 0.0 17. 1 12.0 29. 1 29. 1
3 |HMEERLF 0.0 A3 4 4.0 0.6 0.6
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5 |/MhBEf-h& 0.0 4.7 4.0 8.7 8.7
1 [l FH £ 0.0 A3 7 AL 0 A7 7 A7 7
1 B Fw 0.0 AT0.5 | A12.0 | A22.5| A22.5
8 |#n ki 0.0 9.5 12.0 21.5 21.5
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No. EFA IREP Ba B {51 22 =&t SEtP
12 |EUEEF 0.0 AG.2 | A12.0 | A18.2 | A18.2
5 [/MhEEhE 8.7 AO. 1 ) Al T 4.6
1 [l FH =] AT 5.8 12.0 17.8 10. 1
3 |#EERF 0.6 0.5 4.0 4.5 5.1
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o E1E 2[E] &, BE _ _
No. EFA IREP /e B 151 £ =3 BEtP
11 |RE BF 0.0 AG. 1| A12.0 ]| A18. 1| A18.1
2 B BEEF 29. 1 5.3 12.0 17.3 46. 4
Ji gl Frp| A22.5 1.6 4.0 5.6 | A16.9
8 | Rid 21.5 A0 8 Al Q Al 8 16. 7
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No. EFH HEP T2 | Bfis | &EP |
12 |EBWUERF| Al8.2 14.7 12.0 N 8.5
4 |EBEELE{F| A20. 6] AL 7] A4D .7 | A30.3
2 | BHMBEF 46.4 ] A0 2| A12.0 .2 25.2
7B _FErp| Al6.9 0.2 4.0 2| A12.7

fHEt

S 18 3o B& _ _
No. | FEFH HEP g2 | JEfis BEtP
1M [RE mF| Al8 1 A0 0 [ A12.0 A39. 1
10 |FEEFEF| A9 3.7 4.0 Al 4
3 HEEKLF 0. 1 10. 3 12.0 27. 4
8 [#Hn ki 16.7] A5.0[] A40 7.7
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No. EFA WHEP | 58 | B BEtP
12 |BUEERF 8.5 A1L ] A40 3.0
1 [RE BF| A39.1 AQ.2 4.0 A35. 3
10 |feEFEF| A1.4] A50] A12.0 A18. 4
R 10. 1 6.7 12.0 28.8
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No. EFH HEP g | JEhis BEtP_|
4 [EBEEE{F] A30.3] A6.2] A12.0 A48 5
5 [WhEfh&E 46| AI.5| A4D A0.9
3 HEERLF 2].4 1.7 4.0 33. 1
8 | Kid 7.7 6.0 12.0 25.7
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No. EFA IHEP TR B = FP

12 |BUEERF 3.0 A0.2] A40 2

11 |RE BF| A3B.3| AT.3 | A12.0 .6
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4 [EBEEE{F] A48 5] A6.3] A12.0 AGG. 3
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1 [i] FH = 28.8 8.0 12.0 48. 8
1B FEp| Al2. ] 3. 1 4.0 Ab5.6
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